FIRST YEAR HIGHER SECONDARY EVALUATION

PART Il
CHEMISTRY
Max. : 60 SCORES Tme :2 hours
Cool off time : 15 minutes
SECTION -A

Answer any 4 questions from 1 to 5.Each carries 1 score.
1 @@ 5 (e 62136 68310 nOOE 120 4 Af)QROD 1) HODOOALO)d:.

1 miesod dlmo.

1. Number of significant figures in 0.00203 is ......cccceevvvennenee.
1. 0.00203 o1 MM a0EOMDED allNOYBHEOS Af)GRO v

2. Write the IUPAC name of the element with atomic number 110.
2. @RGQIA|H MaUB 110 QUM 2elHOD 100 IUPAC Galo@P)0)d:

3. Write the Stock notation of FeO?
3. FeO @05 GIUIHE) OMIECSHD a )P0 8h?

4. ldentify the group with +R electron displacement effect from the following.
(-CN, -COOH, -NO,, -NH, )
4. 0% alO@MAU @ +R enAIS G(SI6M WM e @ M ORME ENaNE:S &I6m a6
(3] ~BO
(-CN, -COOH, -NO,, -NH,; )

5. Which gas is formed when water is added to Calcium Carbide (CaC,)
(a) Ethane (b) Butane (c) Ethyne (d) Methane
5. 2@ o $IBeN6NIA RAINRAIW (nINIBO 86)GMIDWD QENSIE)M QLMo MIGY
a1O@MOU @ (O ?
( (a) @0DOLIQMD (b) en1jgOs@IM (c) enveeLa (d) Alensm)

SECTION -B

Answer any 8 questions from 6 to 15.Each carries 2 scores.
6 M@ 15 60 62138683810 oM@ 180 8 af)QNOM 1M HOMOOAL D).

2 MeHI? Aflmo.



6. CO and CO, are two compounds of carbon and oxygen.

(@) Which law is applicable here.

(b) State the above law.
6. CO @0 CO, 1o &IB6nIed 6308 MY 12MAIW | 6.21BM) HENBIE:YM NS MNo®),)BMEBRUD
GrR6eM.
@) oo mlwaadem) enailes (I1de@iu1do?
(b) (IO MR (M IO B &?

7. What are the drawbacks of Rutherford model of atom?
7. 0l03GaN23W BBQo AdWAlMIa0 M MO E:0d af)0mgd0?

8. Identify the correct electronic configuration of copper from the following and give reason for
our answer.

(a) [Ar] 45 3d™° (b) [Ar] 4S%3d°
8. GO 1ME00 (0@ WO enald: 6(S26m QM 2Mo MIOY aI0@YMAIW @ MImMyo
HONSO0d:. M 6BBGINS HOMOOD 1M &I6Mo (LL§ HOAIHE)d>.

(a) [Ar] 45 3d™® (b) [Ar] 4S%3d°

9. How does ionization enthalpy vary in a group and in a period.
9. GREOWIONEMEM UMD af)MDLNI@a ] (Ngaflelo a N@le@layo af)saslom
QL@ § 2TVO]SHM.

10. What are isoelectronic species? Arrange the following species in the order of size.
AP, 0%, F, Na*
10. 6af)emd enalds ¢(S26em 1@ MV afleflm) af)MI@ of)am? MIOY a10®M M allHlr)6608
el ool a0 @rs1mndMT 1 (@eld:@ a6 .
AP*, 0, F, Na'

11. Predict the entropy change in the following reactions.
(a) Vapourisatioin of water
(b) CaO(s) + CO, (g) ———» CaCOs(s)
11. ®20% @M 1588 [~ IIBOOMEBRE 108l af)MESIai] @dQo (llaileey s
a) eugge Mledallwdiapmy;.
b) CaO(s) + CO, (g) — CaCOs (s)

12. Justify that the following reaction is a redox reaction.

H2S(g) + Cla(g) ——  2HCI(g) +S(s)
12. ©20¢¥ OM 1588 («IUBODMo 63®) O1GWIE: MV ((IOUBODMAIEMIOD M

MUIWY (@ 166 >
H,S(g) + Cly(g) ——— 2HCl (g) +S(s)

13. Calculate oxidation number of iodine in the following species?



(i) HI (i) 1 (i) 103~ (iv) 15~
13. 6% MM 1588 MVo®)SMEBRE 1@ GROIW MO0 6308 MU 1B UM MM
o{)(@@I06MM) HOMNSOD) S

G)HI (i) 1, (i) 105~ (iv) 15~

14. Give the IUPAC name of the following compounds.
14. ®26¢ OM 1@ 166))M Mo®)EMEBBE )OS IUPAC MIA0 o))

(a)

(b)

IO

Cl Br

15. Draw the Newmann projection of conformation of ethane?
15. 006L0@ 1M IMDOO  $H6MONIDEAHTYBEINS M RAIM O(aldRHAM  GadBRYE
QL HO) b

SECTION -C

Answer any 8 questions from 16 to 26.Each carries 3 scores.
16 2)®@ 26 QO €216 ,(68B6 1@ a(o®®s 1210 8 af)ROT M HOMEORLO)b.
3 micsod Aflmo.

16. An organic compound contains 40% carbon, 6.67%hydrogen and rest oxygen.Molar mass of
compound is 60.Determine empirical formula and molecular formula.

16. 8©) E2AMNIM B Mo@YBMOD 1@ 40% EIB6NIM )0 6.67% 0OAN(WRMYo ENIDSE |

B8 M 12MYo HENS. Mo@YSMOD IMZO0 CAIGIB AT 60 @R dE)M,). BRM MO0
()00 l@ 18O @ Ca0dBRIW)o CAIE1H6,2I10D CaldAMRIWo &HMB)Y (151668

17. What is photoelectric effect? Write any two characteristics?
17. @a02@SD e0eIds (S8 (al@Io af)MI@ af)(D)? GRM MO0 2 MACUHOBUD af)PI0)d

18. Define electro gain enthalpy? Among Fluorine and Chlorine, which element has highest
electron gain enthalpy?



18. enAIS G(SI6M 6N 0D )DL a1 af)MI@ af)00V? 402 TMIGEMD GHIATMOEMD
B S)OG ENAI G(SIEND ONW M Af)MLI@a[1?. &:IEMo )P0

19. Complete the following table.
19. @20¢ OMIGB1BM alSlds alJROT M 1668

S.No Molecule Hybridisation Geometry
1 BeF, Linear
2 Sp3 Tetrahedral
3 SFs Ssp’d® e,

20. Explain the two types of hydrogen bonding in molecules with examples.
20. MO HE 0Ll EMNE OEOD 1288 00.0WBM ¢onIdMNElol) OBIANMEM Mal Mo
QNoEle:o166)H

21. (a) Write the mathematical expression for first law of thermodynamiocs.
(b) Define standard enthalpy of formation.
(c) Write Gibbs Helmoltz’s equation.
21.a) emdcade0wmIalamileal amdo Ml@wao VMM ©alODI@ )P0,
b) MIMEWAW af)BLOI@ai] 630l GandBRIHMD MIAOLLNBO S
) GlnfM-0a0@EAIDSM MANDE: o af)PI0)db.

22. Write Lowry — Bronsted concept about acids and bases.Give suitable examples.
22. @M - GeNIMRBO8 &) 121388 210 -GEMIVW GRWDOo )P0 d:. CGWIE .o
B0) OBIANEMNLYo af)P0) .

23. Derive the relation between Kp and Kc.
23. Kp Kc @0l @i 1288 eniMbo  d06nsmm,)ds.

24. Give any three types of structural isomers found in organic compounds. Give examples.
24. 23NIM 8 MoW)HMEBBE 1@ &I6MEA|SHM M M@0 V(S 210 Oaf)EMICAF M
a)ome|d0? OBIAOEMMO 1Mo Q| SORDIH6)

25. Predicts the products.
25. 9@ IMEBBUD  (al1laf186)) 8
a) CH3— CH = CH, + HBr _Per@ide - A
b) 3CH = CH Red hot Fe tube/873K > B
C) C6H6+ 6C|2 Anh.AICI3/dark/cold =(~
26. Write any three electrophilic substitution reactions of benzene.
26. onIDMIM OO e 180 MY enald: G(SIal lallds menTqyls (Jd OldeHmdmY

a)9)0) B>




SECTION -D

Answer any 4 questions from 27 to 31.Each carries 4 score.
27200 31 (6O 62126 §6BBE10 nOmE: 10 4 Af)ENOT 1M HOMOORLP ).
4 Mesod Aflmo.

27. Electron in any orbital is characterised by a set of four quantum numbers. Explain them.
27. a@ a30d6ni1Qeilenl gnalss &(soem1om@yo 4 &1d6n180 MMINYBUDd (Y] @@ 120 1@o.
GOSN 2] N0eE)E:@ 1868

28. Draw molecular orbital diagram of O, molecule and calculate its bond order.
28. 308 M 12M OM@I(O®6Ss RO 186213 BIAMNIIQT WMo OB H:. GENIDME
BODWMD H6MEIHE)H>

29. a) State Hess’s law.
b) The standard enthalpies of formation of CHy(g), CO,(g) and H,O(l) at 298K are
- 74.81KJ/Mol, -393.5 KJ/Mol and -285.8 KJ/Mol respectively. Calculate standard enthalpy of
reaction
CHy(g) +20, ——— CO,(g) + 2 H,0(l)

29. 2)eaN@M M @A0 (IO 166)8

b)298 K @2alm1ai@1@ CH, CO,, Ho0 af)mmlaumyes quomewd af)amd@allmy 6dad
Ca02REDHMD- 74.81,-393.5,-285.8 kj/mol af)m1u@den. af)es 1@ 0% alO®m
@MV [ IOIRODMOD 1T OO QUIMEWAW af)D@IGai] &M EDIH6 >

CHa(g) +20, ———» CO,(g) + 2 HyO(l)

30.a) State Le-chatlier’s principle.
b) What are the effects of the following changes in the equilibrium process
Na(g) + 3Hy(g) —> 2NHs(g) AH = —92.38 KI/Mol

a) Increase in pressure
b) Increase of temperature
c) Removal of NH3
30. eal-#Qe/l@d ™o (M @I 1868

Na(g) + 3H,(8) =—> 2NHs(g) AH = —92.38 KJ/Mol
60 MoMREIMIAUMNA® MINY alO@IIM B §6030D o f)6BBOM MVIOWIM 66,0
a)adeLALRRLMAOT
b) el el AIARLMAT

C) BREAIAM W LDDMEHOOD M B0 6_21QYMD

31. How will you detect the presence of Nitrogen, Halogen and Sulphur in an organic
compound? Name the test and explain.



31. 00M(SRM,N2RIRM, MKdanD af)M OIS VI W o 630 EIBNIM 1d>
MVo@YSOOD @3 M16BBUD n()6BBOM @ 1@ 1240 1@Y0? BB OSAYIEIOS GaloD) ?
QNweRI$6)H

TEAM

1. Shajimon KT
HSST Chemistry
GHSS Aliparamba
2. Sujitha G
HSST Chemistry
GGHSS Perinthalmanna
3. Shamsudheen K
HSST Chemistry
GMHSS Perinthalmanna
4. Sameera KV
HSST Chemistry
GVHSS Makkaraparamba
5. Lakshmi Sanker K M
HSST Chemistry
GHSS Mankada
6. Saleena K P
HSST Chemistry
GHSS Kunnakkavu
7. Abdulatheef P
HSST Chemistry
PTMHSS Thazhekkode






